Efficiency vs P,

= 0.4
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02
0.01

.................................................

................................................

e

................................................

................................................

—=— DQM_mkFit5_TTold-lowpt
—e— DQM_mKFit_TT_retrain-lowpt
—— DQM_mkFit_TT_NEWdefault_specPLess3-lowpt

= 05
2 0.45
0.4
£0.35
0.3
0.25
0.2
0.15
0.1
0.05
Vel

iclency vs

et

..............................................

..............................................

.............................................

Ratio

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]

TITI T

[ 2 = 2 B CERERE CEE SRR SEE T OEEE - R

R R
of LT LU
g
.

T
e
L
.

*

|
C
|
N
|
[N
O[T
=
N
W)



	Contents
	Page 1


